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The How to Buy Options

We look at 60-90 days options with a delta of 30-50. On the slide,
NOV call 50. We are buying on the breakout at $ 5.
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We buy insurance in the form of a OCT put 45, 30 days expiration
(Delta -40-50) for $ 5 and place a sell order -50%. For those who
want less risk, you can hold the put for 7-10 days. | usually sell
the put if | see that the stock is going in the direction | need.




AMD (v B ADVANCEDMICRODEVICESINCCOM 7948 liss a7oss Bshee [8 L % D, #Stle, /Drawings, J Studies, X Pattems, =
/AMD 111/20-7/22/20 1D [NASDAQ] D: 8/14/20 VA
0]

AMD!

i |
*'n_rﬁ-!l I ' " ”mu” i iw,[]""fllf I’ﬂ' o *T DT [H‘FTTW .

o Vrd A

I\t Uiuﬂlﬁ,” .

IWM*L .
e 1 H '

SO

:Volume NIA
. ‘ )
100 2
S
50 E
e e [l ||“HH“H‘|||H||”I|I| ‘I|II||||I||||I|||I‘II||||I|||||I||||||I||||mu‘|Ilum *
TTM _Squeeze (CLOSE, 20, 1.5,2.0, 1.0) |NJA | I/A T Y: -111.323
il | JLLETEA .0 -
""""“"ll sagee lllll IIII | gogecessecece llllll Illu'"!nnuluuuuouluouull 11 | il m

STOCK CHART




| D200918C70 (v B AMD 10018 SEP2070CALL 1275 qo0% A 1305 P Shae [@ 4 % D, #Syle, ODrawings, g Studies, V2 Pattems, i
-AMD200918C70 6 M 1D D: 9/4/20 0:14.29 H:14.23 L:8.7 C:1275 R: 559 z
0 30

Hi- 2415 .
U |
20

Volume 661 Openinterest 10,153

10,000
I 5,000
. I I - I - PR - - n

| TTM_Squeeze (CLOSE, 20, 1.5, 2.0, 1.0) /A [1VA |

The How to Buy Options

We look at 60-90 days options with a delta of 30-50. On the slide,
SEP call 70. We are buying on the breakout SEP call 70 at $ 2.
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We buy insurance in the form of a AUG put 60, 30 days expiration
(Delta -40-50) for $ 4.5 and place a sell order -50%. For those who
want less risk, you can hold the put for 7-10 days. | usually sell the
put if | see that the stock is going in the direction | need.
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The How to Buy Options

We look at 60-90 days options with a delta of 30-50. On the
slide, OCT call 350. We are buying on the breakout at $ 4.
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We buy insurance in the form of a SEP put 330, 30

days expiration (Delta -40-50) for $7 and place a sell order -50%.
For those who want less risk, you can hold the put for 7-10 days. |
usually sell the put if | see that the stock is going in the direction |
need.
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The How to Buy Options

We look at 60-90 days options with a delta of 30-50. On the
slide, NOV call 90. We are buying on the breakout at $3.5.
We can see that after the false breakout, the stock got back
under the level of resistance and we sell our call for $3
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We buy insurance in the form of an OCT put 85, 30

days expiration (Delta -40-50) for $ 4.5. We can see that after the
false breakout, the stock got back under the level of resistance
and we sell our put for $6.

Total: 3.5-3-6+4.5=$1 Profit
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The How to Buy Options

On the slide, OCT call 16. We are buying on the breakout at
$1.6. We can see that after the false breakout, the stock got
back under the level of resistance and we sell our call for $0.30
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We buy insurance in the form of an OCT put 15, 30 days expiration
(Delta -40-50) for $ 1.4 . We can see that after the false breakout, the
stock got back under the level of resistance and we sell our put for

$4o
Total: -1.6+0.3-1.4+4=51.3 Profit
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We can see that after the fake breakout, the stock got back under
the level of resistance.
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The How to Buy Options

We look at 60-90 days options with a delta of 30-50. On the
slide, NOV call 30. We are buying on the breakout at $3.5.
We can see that after the false breakout, the stock got back
under the level of resistance and we sell our call for $3
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We buy insurance in the form of an OCT put 30, 30 days expiration
(Delta -40-50) for $ 3.5. We can see that after the false breakout,
the stock got back under the level of resistance and we sell our
put for $4.

Total: -3.5+3-3.5+4=$0 loss
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We can see that after the fake breakout, the stock got back under the
level of resistance.
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The How to Buy Options

We look at 30-90 days options with a delta of 30-50. On the slide, NOV call 30.
We are buying on the breakout at $8. We can see that after the false breakout,
the stock got back under the level of resistance and we sell our call for $2
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We buy insurance in the form of an OCT put 25, (Delta -40-

50) for $ 2. We can see that after the false breakout, the stock got
back under the level of resistance and we sell our put for $9.
Total: -8+2-2+9=%1 profit




For buying options use the following strategies:
1. Buy 50% now and if it goes down -10-30% buy another 50%.

2. Wait for -20% and buy 100% of options (there is a risk that the
price will not go down).

3. Hedge your risk Buy protect put or risk 2% of your account in
one trade.

4. Do not forget to use double ensures if you trade more than
$100 000.

5. Don't keep more than 3 open positions overnight.

6. After buying the 1Ist position wait until it will grow by 40% and
only then buy the 2nd position.

After doubling your account, take your invested money back
into your bank account. Then risk 3% of your current account each
trade.. If you are buying for long term investments then Ist buy a
protective PUT, the second keep in your portfolio 50% of options
CALL and 50% options PUT.




